B&F & (&
5c+8 = 5x+8 [FIEZES

r=1DEETH, r=—2DEETH, =99 D&
b (B8)=(810) &5

3r—4 = x+6 EAER
r=5DEZTLI} (D)= (HD) &35,
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20 —Tr—1=A(x—1)*+B(zx—1)+C HMEERK LS
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20 —Tx—1=A(x—1)*+B(zx—1)+C HMEERK LS

[RERLLEES] A(x—1)> +B(z—1)+C
A(w2—2w—|—1) + Bx—B +C
— Ax’—2Ax+ A+ Bx—B +C
= Az?*+(—2A+B)x+(A—B+0O)

A=2, —2A+B=-7, A—B+C=-1
- gbboo166 [EeARFEZS]



A=2, —2A+B=-7, A—B4+C=-1

A=2% —2A+B = -7 IKRALT
—4 +B = -7 H5
B = -3
A=2, B=—-3% A— B +C = -1 [KRALT
2—(=3)+C = -1 H5
C = —6

k>TE A=2 B=-3, C=—6
TLERER



[BERANE] 22°—Tz—1=A(z—1)*+B(z—1)+C
EBEEREF 2 ICEABBFZANTERDIIDOD
T CEBREITEHEDBHEICLTIHFERAT S,
202 —Tr=0ICHED r=0 & e
(—1)’=0, x—1=0Ic%3 =1 EVYA
T. A,B,C D3 EHZKRDHBICIFESI—DORE
DT, HABEPEEZESR 2 =2ICLXT,
Xr=-2,5 9 THRBIZFEAELH UL BZDTH!
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[BERANE] 22°—Tz—1=A(z—1)*+B(z—1)+C

r=0%ZKATB&

2X0°—7Tx0—1 = A(0—1)*+B(0—-1)+C
—1 = A — B +C

r=1%2ZKAT &
2X1°—Tx1—1 = A(1-1)*+B(1-1)+C
—6 C

gbb60166 [wAVE=%-¢t5




[BERAZE] 22— Tc—1=A(x—1)*+B(z—1)+C

r=2%ZKAT DL

2x22—7x2—1 = A(2—1)*4+B(2-1)+C
—7 A + B +C

—6=C ZEWT

—1=A—B+C
{—7=A—|—B—|—C A=2, B=-3, C=-6
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[BERANE] 22°—Tz—1=A(z—1)*+B(z—1)+C
Wl A=2, B=—-3, C=—6D&EZE
A(x—1)> +B(z—1)+C
2(x—1)* —3(x—1)—6
2(x*—2x+1) —3z+3 —6
2¢*—4x+2 —3x+3 —6
20Tz —1 TEEALBE
B A=2, B=-3, C=—6 t BT TORBHBE
 gbb60166 [EeARETERS



(D)= (50 HESXTT
HEETIE
2(xz+2)°—(z+2)+5 = 22+ Tz +11
D& SLENMNSET N, BELTRE—K
20+ To+11 = 202+ To+11

ERBBDMEFENTT,
TLERER



